0 Circle the correct word.

/ She's got a snail.

He's / (She's got a stick
insect.

He's / (She's got a tortoise.

He's / (She's got a guinea
pig.

2 The

3 The

4 The

Support m:ﬁ;}

He's / (She's got a spider.

He's / (She's got an
iguana.

He's / (She's got a canary.

He's / She's gota
hamster.

1 The canary is bigger than the snail.
Trwe
2 The tortoise is bigger than the hamster.

3 The iguana is bigger than the stick insect.

4 The spider is bigger than the guinea pig.

1 The hamaten is smaller than the Wna,

is smaller than the

is smaller than the

is smaller than the
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